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Question 1.

Name the sector that is the largest employer in India. Why does this
sector produce only a quarter of the National GDP?

Answer:

The agricultural sector (Primary) is the largest employer in India.
Nearly 51% of the population is engaged in this section in one way or
the other. However, its share in the national GDP is very less because
of the following reasons.

The average size of the land holdings is very low which results in low
productivity per holder.

Less use of modern technology and knowhow among the farmers to
increase crop productivity.

The systems of providing financing and marketing facilities have been
insufficient since independence. The farmers are not able to get
benefits frém the loan facilities and access to large markets.

Absence of alternate income generating activities in rural areas give
rise to disguised unemployment where efficient labour force is not
used to its optimum.



Question 2.

How far is it correct to say that several services which cannot be
provided by private sector can be provided by the public sector?
Explain.

Answer:

A few examples of public sector activities are Indian Railways, water,
electricity board and modes of transport.

There are several necessities of common man, but it is not possible
for the private sector to provide all these things at reasonable cost.
For example, water and electricity are the basic needs of everyone. If
the work of providing these is given to private sector then the latter
can exploit this opportunity by selling the same at high rates.
Therefore the supply of basic amenities is given to the government so
that it provides these facilities to the people at low and affordable
rates, ensuring the smooth and uninterrupted supply to the public.

Question 3.

What constitutes the unorganized sector in urban areas? Why do
workers in this area need protection?

Answer:

In the urban areas, unorganised sector comprises mainly small-scale
industry, casual workers in construction, trade and transport, street
vendors, head-load workers, garment makers, ragpickers, etc. All
these workers constitute unorganized sector in urban areas.

A majority of workers in the unorganized sector are from scheduled
castes scheduled tribes and backward communities. Workers in
unorganised sector urban areas need protection because, besides
getting the irregular and low- paid work, these workers also face
social discrimination. They are looked down upon by the people in
urban areas. Protection and support to the unorganised sector
workers is thus necessary for both economic and social development.
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